










































ANNEX A

n

DMW

DCW

where:

DA Distortion Adjustment

DMWA Daily Minimum Wage Adjustment (WO#IVA-14 )

DMW Daily Minimum Wage (WO#IVA-13)

DCW Daily Current Wage

n Distortion Exponent Factor where n varies from 0 

Sample Computation:

5

320.00      

330.00      

0.969697

5

Assuming values for n given DMWA, DMW, DCW, the Distortion Adjustment or DA is

determined as follows:

0 1 2 3 5 ∞
17 320 320 17.00    17.00    17.00    17.00    17.00    

17 320 322 17.00    16.89    16.79    16.69    16.48    

17 320 323 17.00    16.84    16.69    16.53    16.23    

17 320 325 17.00    16.74    16.48    16.23    15.73    

17 320 328 17.00    16.59    16.18    15.79    15.03    

17 320 330 17.00    16.48    15.99    15.50    14.58    

17 320 332 17.00    16.39    15.79    15.22    14.14    

17 320 335 17.00    16.24    15.51    14.82    13.52    

17 320 339 17.00    16.05    15.15    14.30    12.74    

17 320 345 17.00    15.77    14.63    13.57    11.67    

17 320 350 17.00    15.54    14.21    12.99    10.86    

17 320 365 17.00    14.90    13.07    11.46    8.81      

17 320 370 17.00    14.70    12.72    11.00    8.23      

17 320 380 17.00    14.32    12.06    10.15    7.20      

17 320 390 17.00    13.95    11.45    9.39      6.32      

17 320 400 17.00    13.60    10.88    8.70      5.57      

DA     =

Exponent Factor

ADVISORY FORMULA in MANAGING WAGE DISTORTION

Exponential Method

DA    = DMWA   x

0.969697

DA     = 14.58

17   xDA     =

17    x

1

                 DISTORTION ADJUSTMENT 

              (in Pesos)

DMWA DMW DCW

Source: Regional Tripartite Wages and Productivity Board-IVA



where:

DA = Distortion Adjustment

DMWA = Daily Minimum Wage Adjustment (WO#IVA-14)

DMW = Daily Minimum Wage (WO#IVA-13)

DCW = Daily Current Wage

CO = Cut-off Amount

Sample Computation:

368.00 320.00   

800.00 320.00   

48.00     

480.00   

17 320 320 17.00  17.00    17.00    17.00    17.00    

17 320 322 16.58  16.88    16.93    16.94    16.96    

17 320 323 16.36  16.82    16.89    16.91    16.94    

17 320 324 16.15  16.76    16.86    16.88    16.92    

17 320 325 15.94  16.70    16.82    16.85    16.90    

17 320 326 15.73  16.64    16.79    16.82    16.88    

17 320 330 14.88  16.39    16.65    16.71    16.81    

17 320 335 13.81  16.09    16.47    16.56    16.71    

17 320 338 13.18  15.91    16.36    16.47    16.65    

17 320 340 12.75  15.79    16.29    16.41    16.61    

17 320 342 12.33  15.66    16.22    16.36    16.58    

17 320 345 11.69  15.48    16.11    16.27    16.52    

17 320 350 10.63  15.18    15.94    16.12    16.42    

17 320 355 9.56    14.88    15.76    15.97    16.32    

17 320 358 8.93    14.69    15.65    15.89    16.27    

17 320 360 8.50    14.57    15.58    15.83    16.23    

17 320 362 8.08    14.45    15.51    15.77    16.19    

17 320 365 7.44    14.27    15.41    15.68    16.13    

17 320 368 6.80    14.09    15.30    15.59    16.07    
Source: Regional Tripartite Wages and Productivity Board-IVA

DISTORTION ADJUSTMENT/S

Assuming values for CO given, DMWA, DMW,DCW, the Distortion Adjustment or DA 

is determined as follows:

ADVISORY FORMULA in MANAGING WAGE DISTORTION

Cut-Off Method

DA    = DMWA -

   x 17

   17   -   x 17

   17   -

DMWA DMW DCW

(in Pesos)

1200400 600 800

2

DCW  -  DMW

CO   -   DMW
x DMWA

900

Cut -Off Amount

DA    =

DA    =

DA    = 15.30



1 

 

 1 

 

ADVISORY GUIDELINES ON HOW TO PROMOTE AND ESTABLISH PRODUCTIVITY IMPROVEMENT 

PROGRAM AND PRODUCTIVITY-BASED INCENTIVE PAY SCHEMES 
(A Process to Operationalize Section 7 of Wage Order No. IVA-14) 

 
I. Purpose of the Guidelines: 

1. To encourage the implementation of enterprise level Productivity Improvement Program in small and medium 
sized private establishments in Region - IVA. 

2. To establish a closer link between wage levels beyond the minimum wage and productivity in order to sustain 
rising levels of wages, enhance the competitiveness of business and promote the creation and preservation of 
employment; 

3. To enable employers develop a systematic and sustainable approach for improving productivity and wages 
through the active involvement and cooperation of its employees; 

4. To allow employees to obtain a fair share of the gains arising from productivity growth and performance 
improvements, thereby promoting harmonious employee-employer relationship, higher productivity/performance 
and compensation package; and 

5. To serve as a guide and not intended to replace, reduce or diminish existing productivity gainsharing 
arrangements and other forms of productivity bonus/ incentives being implemented in the private establishments 
in the Region. 
 

II. Key Elements in the Implementation of the Guidelines: 
a)  Formation and creation of a productivity committee or its equivalent function to serve as a mechanism for the 

promotion and operationalization of Productivity Improvement Program where concerns of mutual interest to both 
employees and company/ employers towards higher productivity, profitability and competitiveness will be  
identified, discussed and resolved cooperatively, and where other productivity and quality related activities such 
as  Quality Circle, Small Group Activity, Labor-Management Council, etc. can be further pursued and 
strengthened. 

b) Design/ installation of Productivity Improvement Program in the establishment, involving everyone in the 
organization, regardless of the status of their employment. The scope and coverage may be company-wide, 
departmental, or selected work unit/s, depending on what is more suitable to the establishment. The focus may 
be: reduction of costs, improvement of quality, development of new product/service, improvement of processes, 
six sigma analysis, suggestion scheme, reduction in process cycle time, increase productivity, increase profit, 
increase customer satisfaction, increase market share, improvement of supplier-customer relationship, etc. 

c) Establish/ institutionalize a System for Measuring Productivity/Performance Improvement including the criteria 
and performance grading metrics, targets, standards and cap setting, formula, period covered and other relevant 
factors.  

d) Develop a system for rewarding individual or group employees’ performance, (variable component of its total 
compensation package) and employers’ share, attributed to their respective contributions in the productivity and 
profitability performance of the establishment, including funding source, manner and method of payment, etc. 

 

III. Definition of Terms: 
 

A. What is a Productivity-Based Incentive Program? 
It is a program partnered by the company management and the employees whose main objective is 

geared towards improving company’s level of productivity in terms of Labor Productivity, Material Productivity and 
Energy Productivity and the like. These will be done through more efficient utilization of resources, on time 
production and delivery of quality goods and services that satisfy the requirements of the customers, such as 
good housekeeping, quality circles, cost reduction, work simplification, process improvement, management 
control system, among others. It focuses on    four (4) major areas of concern:  a) quality improvement, b) 
competitive pricing, c) on-time delivery, d) safe and healthy work environment.  

In the process, whatever will be the gain or monetary savings as a result of the increased productivity, 
the company shares it with the employees in the form of monetary incentives. The monetary incentives will not 
come from the coffer of the company but rather from the different productivity activities the employees will 
undertake. 

 
B. Who are Qualified for the Productivity Incentive? 

All employees regardless of level and status can be qualified to receive productivity incentives. 
However, job performance criteria can be applied in determining individual amount of monetary incentives that 
each can receive on a particular month or year, such as: 

 Performance Rating 
 Attendance  
 Tardiness 
 Administrative violations and offenses 

 

IV. General Formula on Productivity Gain Sharing 
1. Performance and Profit Sharing Model 
2. Productivity Linked Model 
3. Value Added Model 
4. Scanlon Plan 
5. Rucker Plan 
6. Productivity/Cost Savings 
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Illustrative Examples : 
 

1. Performance and Profit Sharing Model 

 
Illustrative Computation : 
 
Assumptions: 
Profit  After Tax   (6 mos.)     P  200,000.00 
Less:   50%  (of Profit After Tax ) as Company Share      100,000.00 

Net  Profit Available for Sharing    P  100,000.00 
 

Total Labor Cost or Payroll  (6 mos.)       P  384,946.00 

 

 

Employee  
  

Multiplier 

A (P320/day + 24% mandatory benefits x 26 days x 6 mos.)        61,901.00  0.1608 

B (P320/day + 24% mandatory benefits x 26 days x 6 mos.)        61,901.00  0.1608 

C (P350/day + 24% mandatory benefits x 26 days x 6 mos.)        67,704.00  0.1759 

D (P400/day + 24% mandatory benefits x 26 days x 6 mos.)        77,376.00  0.2010 

E (P600/day + 24% mandatory benefits x 26 days x 6 mos.)      116,064.00  0.3015 

  
 P 384,946.00  

  

Distribution of Gains: 

 
a. Fixed Share:  50% (of the Net Profit Available for Sharing) to be pro-rata shared by all employees depending 

on salary pay scale. 
 

b. Variable Share: 50% (of the Net Profit for Sharing) to be distributed based on the employees   
group/individual performance using the Performance Appraisal Rating (PAR), salary level, and credit months.  
Performance Appraisal Rating (PAR) may include criteria such as efficiency, capability, attitude, attendance, 
etc. 

 

Computation of Share per Employee 

 

a. Fixed Share per Employee 

 
50% of Net Profit Available for Sharing (P50,000.00) x Multiplier 

 

Employee Multiplier 
  50% Amt.    Employee 

  for Sharing    Share 

A 0.1608 x 50,000.00 = 8,040.22 
B 0.1608 x 50,000.00 = 8,040.22 
C 0.1759 x 50,000.00 = 8,793.96 
D 0.2010 x 50,000.00 = 10,050.24 
E 0.3015 x 50,000.00 = 15,075.36 

  
 

      50,000.00 
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b. Variable Share Per Employee 

 
50% x Net Profit Available for Sharing (P50,000.00) x Performance Rating 

 

Employee 
Total 

Compensation 

Performance 

Appraisal  

Rating 

 

Multiplier 
Credited 

Months 
 

Weighted 

Points 

A 61,901.00 85     x 0.1608 / 100 x 6/6      = 0.136683717 0.152317 

B 61,901.00 90     x 0.1608 / 100 x 5.5/6   = 0.132663607 0.147837 

C 67,704.00 88.5  x 0.1759 / 100 x 6/6      = 0.155653105 0.173456 

D 77,376.00 92.5  x 0.2010 / 100 x 6/6      = 0.185929455 0.207196 

E 116,064.00 95     x 0.3015 / 100 x 6/6      = 0.286431863 0.319193 

 384,946.00      

 

Employee  
Weighted   50% Amt Employee 

Points   for Sharing Share 

A 0.152317 x         50,000.00   =       7,615.86  

B 0.147837 x         50,000.00   =       7,391.87  

C 0.173456 x         50,000.00   =       8,672.82  

D 0.207196 x         50,000.00   =     10,359.78  

E 0.319193 x         50,000.00   =     15,959.67  

  
   

         50,000.00 

 

c. Total Performance & Profitability Based Pay Per Employee (6-mos. Period) 
 

Employee Fixed Share   Variable Share 
  Total 

  Incentive 

A 8,040.22 +       7,615.86  = 15,656.08 

B 8,040.22 +       7,391.87  = 15,432.09 

C 8,793.96 +       8,672.82  = 17,466.78 

D 10,050.24 +     10,359.78  = 20,410.02 

E 15,075.36 +     15,959.67  = 31,035.03 

  50,000.00 
 

    50,000.00  
 

100,000.00 

 
 
 

2. Productivity Linked Model 
 

Group/Individual Incentive Scheme based on actual performance achieved vs. criteria, targets/standards set. 
The group/individual will qualify for the Productivity Incentive (2 levels) if they achieve the following standards 
set. 

 
a. Monthly Productivity Incentive 
b. Yearly Productivity Incentive 

 

Illustration : 
 

Performance  

Criteria  

Standard/Target                           

(Tolerance Variance) 

 

Pts. 

Actual 

Performance 

 Points 

Achieved  
 Points  System  Pts. 

1. Sales  
     

  

     Turnover 5% monthly budget  1 10% 2 100% of the std.  2 

  
    

200%of the std. 4 

     Total (P) 5% monthly target  1 10% 2 100% of the std.  2 

  
    

200%of the std. 4 

2. Production  
     

  

     Quantity 5% monthly target 1 5% 1 within the std.  1 

  
    

100%of the std. 2 

     Quality 2% prodn rejects/  1 1% 2 2% prodn rejects 1 

        loss 
   

1% prodn rejects 2 

  
No controllable customer 
complaints  

1 
 1 customer  

     Complaint 
0 

within the std. 
not within std. 

1 
0 
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Performance  

Criteria  

Standard/Target                           

(Tolerance Variance) 

 

Pts. 

Actual 

Performance 

 Points 

Achieved  
 Points  System  Pts. 

3. Cost Savings 
   Process 

 
5% production costs/  

 
1 

 
15% 

 
3 

 
 300% of the std. 

 
3 

     Improvement      productive time 
   

 200% of the std.  2 

  
     

  

     5 S/Lay out 5% productive time  1 5% 1  within the std.  1 

  
    

 100% of the std.  2 

     Total        
Productive 

3% monthly budget 1 3% 1 3%  within the std.  1 

     Maintenance 
    

3.5%-5% 2 

  
     

  

     Energy Cost 3% monthly budget 1 3% 1 3% within the std. 1 

  
    

3.5%-5% 2 

     Delivery Cost 3% monthly budget 1 3% 1 3% within the std. 1 

    10   14 3.5%-5% 2 

 
 

Distribution of Gains : 
 

c. Monthly Productivity Incentive is based on the number of points attained each month. Total points earned 
has a corresponding amount of incentive to be shared to every employee. The higher the number of criteria 
attained, the higher is the incentive per employee. If overall Actual Productivity Performance ≥ 
Targeted/Standard Performance for criteria 3 (Cost Savings) each employee shall receive only the Monthly 
Productivity Incentive. 

 
 
 
 

Month 
Points 

Achieved  
  

Corresponding 

Incentive    

 

No. of Criteria 

Achieved 
 

Incentive  

(in Pesos) 

Month 1 8 pts. x P 80.00 
 

10 100 
Month 2 14 pts. x P100.00 

 
9 90 

     
8 80 

     
7 70 

     
6 60 

     
5 50 

     
4 40 

     
3 20 

     
2 - 

     
1 - 

 
 
 
 

            Month 1  Month 2  

Employee  A P320/day x 26 days = 8,320 = 8,320 + P 80.00  P100.00  

  B P320/day x 26 days = 8,320  = 8,320 + P 80.00  P100.00  

  C P350/day x 26 days = 9,100  = 9,100 + P 80.00  P100.00  

  D P400/day x 26 days = 10,400 = 10,400 + P 80.00  P100.00  

  E P600/day x 26 days = 15,600  = 15,600 + P 80.00  P100.00  

 
d. Yearly Productivity Incentive: If overall Actual Productivity Performance > Targeted/Standard Performance 

for criteria 1, 2, & 3 by 5%, an additional amount of P____ for each employee. 
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3. Value Added Model 
 

Illustrative Computation : 

 
Figures used are only for illustration purposes 
Five (5) Employees 
 
a. Compute for the Value-Added ( Subtraction Method) 

      Month 1   Month 2 
 Growth 

Rate  

Sales 
 

  P   450,000  P 500,000    

Less:  Bought in Materials & Services   
 

  
 

  

          Materials      140,000 
 

150,000 
 

          Production Overhead   45,000   50,000   

          Administrative Expenses   15,000   20,000   

          Total Bought in Mats. & Serv   200,000   220,000   

  
 

    
 

  
 

  

Gross Value Added  P 250,000 P 280,000 12% 

 
b. Compute for the Value-Added (Addition Method) 

      Month 1 Month 2 
 Growth 

Rate  

Net 
Profit   

  P 174,000 P 200,000   

Less:  Non Operating Income   1,000   2,600   

Adjusted Profit             173,000   197,400   

Labor Cost     65,000   70,000   

Depreciation     5,000   6,000   

Interest 
 

    2,000   1,000   

Taxation 
 

    5,000 
 

5,600   

  
 

    
 

      

Gross Value Added  P 250,000 P 280,000 12% 

 
c. Compute for the Key Productivity Indicators 

Key Productivity Indicators Month 1 Month 2 
 Growth 

Rate  

Labor Productivity  
    

  

   Value Added per Employee     (P) 50,000 56,000 12.00% 

         (Value Added/No. of Employees) 
   

  

   Value Added per Peso Sales  (%) 55.56 56.00 .80% 

        (Value Added/Sales) 
   

  

   
   Sales per Employee      

90,000 100,000 11.11% 

        (Sales/No. of Employees) 
    

      
Ave. 7.97% 

 

Labor Cost Competitiveness 
   

  

   Value Added per Peso Labor Cost 3.85 4.00 4.00% 

       (Value Added/Labor Cost)  
   

  

  
     

  

Profitability 
    

  

   Operating Profit per Peso Sales (%) 38.44 39.48 2.69% 

       (Operating Profit/Sales)   
 

    

 
 

Distribution of Gains : 

 
Amount of Incentive Per Employee (for Month 3) = Monthly Basic Pay x 7.97% x Amount for Distribution 
 
Note: Percentage of Productivity Incentive should lag behind Labor Productivity Growth Rate 
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4. Scanlon Plan 

 

Illustrative Computation : 
 
Compute for the Bonus Percentage : 
 

       Month 1   Month 2 

Net sales 
 

P450,000 
 

P 500,000 
Increase/ (Decrease) in Inventroy         

Sales Value of Production 
 

    P450,000  
 

    P 500,000  
Allowed Payroll Costs (20%) 

 
         90,000  

 
       100,000  

Actual Payroll Costs            65,000            65,000  

Bonus Pool 
 

         25,000  
 

        35,000  
Company Share (25%)              6,250              8,750  

Employee 
 

         18,750  
 

        26,250  
Deficit Reserve (25%)              4,688              6,563  

Available for Immediate Distribution 
 

         14,063  
 

        19,688  
Participating Payroll 

 
         65,000  

 
        65,000  

Bonus Percentage   21.6%   30.3% 

 

Distribution of Gains: 

 
Amount of Productivity Incentive Per Employee  =  Monthly Basic Pay x Bonus Percentage x   Amount Available 

for Distribution 

 

 

5. Rucker Plan 

 
Illustrative Computation : 
 
Compute for the Bonus Percentage: 

 

        Month 1            Month 2 

Sales 
 

P450,000 
 

P500,000 

Outside Purchases: 
   

  

    Materials 
 

       140,000  
 

       150,000  

    Production Overhead 
 

         45,000  
 

        50,000  

    Administrative Expenses 
 

         15,000  
 

        20,000  

Total Outside Purchases 
 

       200,000  
 

       220,000  

Value Added 
 

       250,000  
 

       280,000  

Rucker Standard (48%) 
 

       120,000  
 

       134,400  

Actual Payroll Costs            65,000            65,000  

Bonus Pool 
 

         55,000  
 

        69,400  

Deficit Reserve (25%)            13,750            17,350  

Available for Immediate Distribution 
 

         41,250  
 

        52,050  

Participating Payroll 
 

         65,000  
 

        65,000  

Bonus Percentage   63.5%   80.1% 

 

Distribution of Gains : 

 
Amount of Productivity Incentive Per Employee   =   Monthly Basic Pay x Bonus Percentage x Amount Available 

for Distribution 
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6. Productivity Savings Formula 
 

A.   Materials Productivity Gainsharing 
 

Basis of Scheme: 
 

 Gain sharing on productivity savings on Material Loss from Production and Deadstock      
 

Scope: 

 

 All qualified input raw materials which can be measured by quantity, by weight, by length or by any other 
unit of measures 

 Company-wide 

 All employees regardless of level and status can be entitled to gain sharing  

 Periodic Productivity Gain Sharing 

 

Productivity Savings Sharing Scheme :  

 

 The sharing on productivity savings will be left to the parties concerned, depending on what they will 
mutually agree upon and what is mutually beneficial to the parties concerned as determined and maybe 
recommended by the members of the productivity committee. However, employees’ share on 
productivity savings may normally range from a low of 1% to a high of 50%. 

 

General Formula : 

 
1. Using the product sales information from Production Planning and Control functions, determine the 

allowable Material Loss for the year using the formula below: 
 

Total Allowable Material Loss for the year: 
         =  Quantity of products or goods sold during the last fiscal or calendar year (pcs) 
         x  Amount in Peso of Standard Material Loss per piece of product  

 (as per Product Costing Dept.) 

 
 Example: 

  

Type of 

Product           

 

( A ) 

Qty. of Product Sold 

for the Year     

 

( B ) 

Amount  of Standard 

Material Loss per 

Piece                

( C ) 

Amount of Allowable 

Material Loss                              

D = B x C 

A 50,000 pcs. P 20.0 / pc. P   1,000,000 

B 40,000 pcs. P 15.0 / pc. P     600,000 

C 30,000 pcs. P 10.0 / pc. P     300,000 

D 20,000 pcs. P 5.0 / pc. P     100,000 

  TOTAL P   2,000,000 

 
2. Monthly, the total amount of material loss or defective parts and components from production will be 

computed and recorded. 
3. At the end of each fiscal or calendar year, the total amount of dead stocks from raw material inventory will 

be computed and recorded. 
4. Productivity Savings in Material Loss for the year will be computed using formula below: 

 
      Productivity Savings   =   Total Amount of Allowable Material Loss for the year  

    - (Total Amount of Actual Material Loss from production for the year   
                 + Total Amount of parts deadstocks for the year). 

 
 Example : 
 

 ( A ) Amount of Allowable Material Loss        : P 2,000,000 
  (computed on Step # 3)   
 ( B ) Amount of Actual Material Loss from Production     : P    500,000 
  (from Manufacturing Dept. Report) 
 ( C ) Amount of Parts Deadstock         : P    700,000 
  (from Material Planning Dept.) 
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Productivity Savings on Material Loss  ( D ) : 
  = A – ( B + C ) 
  = P 2,000,000 –  ( P 500,000 + P 700,000) 
  = P 800,000 
 

5. For example, Productivity Gain Sharing between company and employees, is 80% for the company and 
20% for the employees : 

 
Example: 

 

Total Amount of Productivity 

Savings 

( A ) 

Company’s Share            

B = A x 80% 

Employees Share    

      C = A x 20% 

P  800,000 P  640,000 P  160,000 

 
 

Productivity Gain Sharing on the Employees: 
 

1. In computing the Productivity Gain Sharing amount per individual employee, the formula will be as follows :   
 

Productivity Gain Sharing per employee : 
    =        Productivity Gain Sharing Amount per day (Peso per day) 
    x        Number of actual days of attendance of the employee for the year 
 
 

Where, Productivity  Gain Sharing Amount per day is : 
    =        Total Amount of Employees Productivity Gain Share for the Year 
     
              (Total No. of Employees x Total No. of working days for the year) 
 
      Applying from the Example : 
 
 ( A ) Total Amount of Employees Productivity Gain Share   :   P  160,000 
 ( B ) Total Number of Employees                    :             500 
 ( C ) Total Number of Working Days for the year            :             260 
 
 

Productivity Gain Sharing Amount Per Day :  
 
 =       A 
 
   ( B x C ) 
 =    P 160,000 
 
  ( 500 employees x 260 working days)  
  

= P  1.23 per day per employee 
 

 
 Example : 
 

Employee “ A “ has 250 days attendance for the year. How much is his Productivity Gain Share? 
 

Productivity Gain Share      = 250 days x P 1.23 per day 
                         =           P  307.50 
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B. Labor Productivity Gain Sharing 
 

Basis of Scheme  : 

 

   Productivity Gain Sharing on Increase in Production Efficiency 
 

Scope   :  

 

  Company-wide 

  All employees regardless of level and status can  be entitled to gain sharing 

  Periodic Productivity Gain Sharing 
 

Productivity Savings Sharing Scheme  : 

 

 The sharing on productivity savings will be left to the parties concerned, depending on what they will 
mutually agreed upon and what is mutually beneficial to the parties concerned. However, employees’ 
share on productivity savings may range from 1% to 50%.  

 

General Formula : 
 

1.  Monthly or Periodically the company’s management sets Target Production Efficiency as the  basis or 
benchmark of productivity increase. 
 

  Example :  
   Target Production Efficiency for the month  :  85% 

 Anything beyond 85% target will be considered increase in labor productivity 
 

2.  Monthly, the Actual Production Line Efficiency will be computed using formula below : 
         
           Output   

   Production Line Efficiency (Generic Formula)  = x 100 
                  Input 
 

 In different companies, computation method of Production Line Efficiency may vary 
depending on the product or production system, thus, computation method will be left 
to individual companies. 

Example : 
Actual Production Line Efficiency  for the month  : 87% 

 
3.  Using Data on Step # 1 and # 2, compute for the equivalent amount of productivity savings on increase on 

Production Efficiency with the formula below : 
 

Productivity Savings on Increase in Production Efficiency : 
 
 =    (Target Efficiency – Actual Efficiency) / 100 
 x     Total number of hours of direct and indirect employees used for     
                   the month (based on payroll data) 

   
x    (Employees Average Basic Pay per day  x  1 day / 7.5 hours) 

  =    (Unit Peso) 
 

Example : 
 (A) Target  Efficiency for the month (from step # 1)    :   85% 
 (B) Actual Efficiency for the month   :   87% 
 (C) Total number of hours of Direct and Indirect  :   200,000 hours 

employees used for the month   
(based on payroll data) 

 (D) Employees Average Basic Pay per day  :   P 500.00/ day 
 
  Productivity Savings on Increase in Production Efficiency  (E) : 
  E     =  (87% - 85%) / 100 x (200,000 hours x P 500/day x 1 day/7.5 hrs.) 

         =     P  266,666 
 

4.  Determine the Extra-Ordinary Expenses in the production occurred during the month, namely : 
1. Rework Cost 
2. Airfreight Cost 
3. Other Costs 
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Rework Cost :  
-  Rework cost due to product defects wherein the company is held responsible for, 

categorized into the following : 
 

a. Repairs done at customer side due to product defect  
             Repair Cost = Material Cost + Repair Cost 
b. Cost of scrap products due to defects 

Scrap Cost = (Defective Qty. x Production Cost per unit)  
+ Delivery Cost 

  
  Airfreight Cost (Raw Materials and Product) 
   - Delivery of Product by Air Shipment due to production delay 
   - Delivery of parts/components by Air Shipment charged  to the  

   Company 
 

5.  Compute Net Productivity Savings on Labor Productivity for the month using the formula below: 
Net Productivity  Saving on Labor Productivity for the month : 
 = Productivity Savings on Increase in Production Efficiency 

- (Rework Cost + Airfreight Cost) 
 
 

Example : 
 

(A) Productivity Savings on Increase in Production Efficiency : P 266,666 
 for the month 

(Computed on Step #3)     
  (B) Rework Cost      : P   60,000 

(C) Airfreight Cost      : P   50,000 
 
 Productivity Net Saving on Labor Productivity for the month (D) : 
  D = A – ( B + C) 
      = P 266,666 ( P 60,000 + P 50,000) 
 
        = P 156,666 

 
 

6.  For example, Gain Sharing between company and employees, is 80% for the company and 20%   for the 
employees. 

 
Applying from the example: 
 

Total Net Savings on Labor 
Productivity for the month 

( A ) 

Company’s Share                      
 

B = A x 80% 

Employees Share                    
 

C = A x 20% 

P 156,666 P 125,332 P 31,334 

  
Gain Sharing on the Employees : 

 
1. In computing the Gain Sharing amount per individual employee, the formula  

      will be as follows :    
 

Gain Sharing per employee : 
  =        Gain Sharing Amount per day (Peso per day) 
  x        Number of actual days of attendance of the employee for the year 
 

Where, Gain Sharing Amount per day is : 
  =        Total Amount of Employees Gain Share for the year 
   
            (Total No. of Employees x Total No. of working days for the year) 
 
      Applying from the Example : 
  ( A ) Total Amount of Employees Gain Share          :  P 31,334 
  ( B ) Total Number of Employees          :          500 
  ( C ) Total Number of Working Days for the year    :          260 
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Gain Sharing Amount Per Day :  
 

 =       A 
 
   ( B x C ) 
 =    P 31,334 
 
  ( 500 employees x 260 working days)  
  

= P  0.24 per day per employee 
 

Example : 
 

Employee “ A “ has 250 days attendance for the year. How much is his Productivity Gain Share for the 
month? 

 
Productivity Gain Share    = 250 days x P 0.24 per day 

                  
                                 =   P  60.00 

 

C.  Energy Productivity Gain Sharing 
 

Basis of Scheme: 

 Gain Sharing on Productivity savings on Kw-Hr consumption per unit product output 
  

Scope:  

 Company-wide 

 All employees regardless of level and status can be entitled to gain sharing 

 Periodic  Productivity Gain Sharing 
 

Productivity Savings Sharing Scheme:  

 The sharing on productivity savings will be left to the parties concerned, depending on what they will 
mutually agreed upon and what is mutually beneficial to the parties concerned. However, employees’ 
share on productivity savings may normally range from a low of 1% to a high of 50%. 

 

General Formula: 
 

1. Set target kilowatt-hour per unit output for the year, using formula below : 
 
                                                                                   Total Kw-Hr used last year       

(from Electric Billing) 
Target Kw-Hr per unit output  =            

      Total unit output last year   
                                                                            (from Prod’n. Planning Dept. Report) 
 
  Example : 
 
  ( A ) Total Kw – Hr used last year     :  500,000 Kw-Hr  
 
  ( B ) Total unit output  last year    :  2,000,000 units 
 
   Target Kw-Hr per unit output ( C ) : 
 
    C   =           A 
 
                           B 
          = 500,000 Kw-Hr 
 
      2,000,000 units 
      

    =  0.25 Kw – Hr per unit 
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2. Determine monthly Actual Kw-Hr consumption per unit output using formula below : 
 

Total Kw-Hr used for the month (from Electric Billing) 

Actual Kw-Hr per unit output     =                                                                            
                                                                Total unit output for the month  

          (from Prod’n. Planning Dept.) 
 

Example : 
 

  ( A ) Total Kw – Hr used for the month      :   40,000 Kw-Hr  
 
  ( B ) Total unit output  for the month        :   200,000 units 
 
   Actual Kw-Hr per unit output ( C )      : 
 
   C  =          A 
 
                         B 
           = 40,000 Kw-Hr 
 
    200,000 units 
 
                   =     0.20 Kw-Hr  per unit 

  
3. Compute the amount of productivity savings from Kw-Hr consumption for the month, using data from 

step # 1 and # 2 based on the formula below : 
 

Amount of Productivity Savings  =  (Target Kw-Hr  per unit output  
               -   Actual Kw-Hr per unit output for the month)  

                 x  Total unit output for the month x Actual Cost per Kw-Hr 
 

Example : 
 

  ( A ) Target Kw – Hr per unit output (from step #1)  :  0.25 Kw-Hr per unit  
 
  ( B ) Actual Kw-Hr per unit output (from step #2) :  0.20 Kw-Hr per unit 
 
  ( C ) Total Unit Output for the month   :  200,000 units 
 
  ( D ) Actual Cost per Kw-Hr (from Electric Billing) :  P 10.0 per Kw-Hr 
 
  Amount of Productivity Savings  for the Month ( E ) : 
 
  E     = ( A – B )  x  C  x  D 
         = ( 0.25 – 0.20 Kw-Hr per unit ) x  200,000 units x P 10.0/ Kw-Hr 
                    =   P 100,000 

 
4. For example, Productivity Gain Sharing between company and employees is 80% for the company and 

20% for the employees. 
 

Example : 
      Amount of Productivity Savings in Kw-Hr consumption for the year : 
 

                 Month Amount  P 

1 100,000 

2 50,000 

3    - 

4 45,000 

5  - 

6 60,000 

7 30,000 

8 25,000 

9 15,000 

10 - 

11 35,000 

12 40,000 

TOTAL P  400,000 
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Productivity Gain Sharing on the Employees : 
 

1. In computing the Productivity Gain Sharing amount per individual employee, the formula will be as 
follows:    

 
 

Productivity Gain Sharing per employee : 
  =        Productivity Gain Sharing Amount per day (Peso per day) 
  x        Number of actual days of attendance of the employee for the year 
 

Where, Productivity Gain Sharing Amount per day is : 
 

  =        Total Amount of Employees Productivity Gain Share for the year 
   
            (Total No. of Employees x Total No. of working days for the year) 
 

 Applying from the Example : 
 
 ( A ) Total Amount of Employees Productivity Gain Share :   P 80,000 
 ( B ) Total Number of Employees          :           500 
 ( C ) Total Number of Working Days for the year   :           260 

 
Productivity Gain Sharing Amount Per Day :  

 
 =       A 
   ( B x C ) 
 
 =                  P 80,000 
                   ( 500 employees x 260 working days)  
  

= P  0.62 per day per employee 
 

  
Example : 

 
Employee “ A “ has 250 days attendance for the year. How much is his Productivity Gain Share 
for the year? 

 
Productivity Gain Share    =    250 days x P 0.62 per day 
 

         =    P  155.00 

Total Amount of Productivity 
Savings                     ( A ) 

Company’s Share                   
B = A x 80% 

Employees’ Share                                
C = A x 20% 

P  400,000 P  320,000 P  80,000 
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